NC Math 2 Unit 6 Square Root and Inverse Variation Functions LESSO n 8

READY, SET, GO!

READY

Topic: Solving Systems of Equations.

For each of theelow, determine whether the ordered pa(E (3,3) )s a solution.
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(3,3)is Not o soluction . ‘
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SET

Topic: Solve systems of equations involving square root and inverse variation relationships.

Write a system of equations or inequalities to solve each
problem.

x:q
% 7. You have\36 yards of fencing Yo build the enclosure pictured /~

to the right. Some of this fencing is to be used to build an

internal divider. If you’d like to enclose(54 square yards
what are the dimensions of the enclosure?
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9. The sum of two numbers is 10 and their product is 24. Eind the_numbers.

x(10=-x) =24
ox —x* = 9‘*
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GO! %
Topic: Solve“quadratic equations.
11. x> =5x+10=0 \] 12. 2> +4x+6=15
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13. x2+4x+2=0 14. 5x* —5x+2 =3x%2—3x -’—
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